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Q.1: P1: Use the AAS congruence criterion for triangles to prove relationships in geometric figures Mark(s): 3/3

Given that A ABC =A DEF using A ABC =A DEF (J s )3
angle —angle-side (AAS), find the «(AAS) alaj ofugh golad dabua aladinly

measure of BC. .BC (sl 24

i 40 (V)




Q.2: P1: Use the right triangle congruence theorems to prove relationships in geometric figures Mark(s): 3/3

Given that A ABC =A DEF using A ABC =A DEF ¢ cals 13

leg —leg (LL) congruence, choose ¢((LL) ¢palal) (@Uas alassiul

the correct statement. JAsaaal) 5ylal) 33
C F




Q.3: P1: Use the SAS congruence criterion for triangles Mark(s): 3/3

What additional information could be lgaladin) (e (Al ddlay) cilagleal) La
used to prove that A ABC =A HJK AABC =A HJK ¢ o
using side-angle-side (SAS)? $(SAS) dugliy Gl (ol Aalusa pladiuly
B
Cc
H
A
J




Q.4: P1: Prove the Triangle Angle-Sum Theorem Mark(s): 3/3

Find m2QRP. .m2QRP a4




Q.5: P1: Apply angle relationship theorems to identify parallel lines Mark(s): 3/3

If 218 = 6. 28 = £6 o8
State the theorem that proves p||q. Pllg o Sl dassiual) Al sy

Aaliiad) Aalafal) Ligll LusSaa

Alternate Interior Angles Converse

AEiad) A5l L3 (o sSaa

Consecutive Interior Angles Converse

($3anl) Aol (pusSaa

Perpendicular Transversal Converse




Q.6: P1: Identify special angle pairs, parallel and skew lines, and transversals Mark(s): 3/3

Choose a segment parallel to JK. JK 2 Ajisie dalie dzkd i)

=
v
S
¢




Q.7: P1: Prove theorems about angles by using the Angle Addition Postulate Mark(s): 3/3

If msz1 = 113° and smz1 = 113° o\$ 1)
mzABC = 131°. .m£ZABC = 131°
Find mz2. MZL2 gl




Q.8: P1: Prove theorems about line segments by using properties of segment congruence Mark(s): 0/3

Which property apply for the given Slharal) Bilaall Ao gahis duald gi
statement, if AB = CD, and CD = EF, (i «CD = EF 3:AB = CD o\ 3
then AB = EF. .AB = EF

d..ﬂ.hﬂl gﬁ alsay) a,'udb.

Reflexive Property of Congruence

@l b il duals

Symmetric Property of Congruence

@lail) b gl duals

Transitive Property of Congruence

Aaakiceal) adail] gas Auals

Segment Addition Property




Q.9: P2: Find the distance between parallel lines Mark(s): 5/5

Find the distance between the parallel Ol Grandial) G Adluwal) 4—‘.‘3‘

lines x = —2 and x = 3. X=3 3x=-2




Q.10: P1: Use rotational symmetry to describe the rotations that carry a figure onto itself Mark(s): 3/3

Select the order of symmetry. ) - ek | Y g £ N

UL L LD |
w
o

[ —-




Q.11: P1: Use symmetry to describe the reflections that carry a figure onto itself Mark(s): 0/3

Choose the figure that has two lines LBl Jagha e (il Al ol Ja) aa)

of symmetry.







Q.12: P2: Classify lines as parallel, perpendicular, or neither Mark(s): 5/5

What is the slope of a line parallel to 4ilalaa q;..ﬁ'l peiisall (5lgal) asiivual) Jea La
the line with the equation y = —3x + 4? fy=-3x+4




Q.13: P2: Prove theorems about angles by using properties and theorems of angle congruence Mark(s): 0/5

Find mz1 if mz2 = x° and smz2 = x° o 13 mal dagl
ms3 = (x—36)°. ms3 = (x—36)°
3\ 1
—-€ >
2

mz1 = 145°

ms1 = 108°




Q.14: P2: Use the ASA congruence criterion for triangles to solve problems Mark(s): 0/5

>

Salma came to a river during a hike, she () caagd (Al (LS| gl ) (b liag
finds that the distance from her current  (55lui R §a.al) ) Alad) gadga (e d8lusal)

location to the rock R equals 3.9 m, 32RAB = £TAB (513 ¢3.9m
if /RAB = ~TAB, and RA = 4.5 m. .RA=4.5m
Find the distance RT. RT ddlecal) 2

7.8 m




Q.15: P2: Classify lines as parallel, perpendicular, or neither Mark(s): 0/5

Find the slope of the line. pdiecal) e 1l

- e

b._
1

c.




Q.16: P2: Determine the translation vector Mark(s): 0/5

Find the vector that translates daf)) q;:ﬁ‘ asiall 1af
A(-2,3) to A'(5,4). A'(5,4) SN A(-2,3)




Q.17: P2: Use the Third Angles Theorem of triangle congruence to solve problems Mark(s): 5/5

Find the value of x. X dasd aa g




Q.18: P2: Solve problems involving isosceles triangles Mark(s): 0/5

Find the value of x. X deagd 2l

x =50




Q.19: P2: Solve problems involving equilateral triangles Mark(s): 0/5

Find the value of h. Jh dad aal

—

v
C.




Q.20: P2: Use the SSS congruence criterion for triangles

Mark(s): 0/5
Which pair of triangles have enough CLEY A8l Claglea 4l Cliliall o ) ‘“51
information to prove that the triangles Sybed b pladiul dilaia clilie [Py
are congruent using side-side-side 9(SSS) Akl gy

(SSS)?







